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IREEE# . 1000pg-TEQ/gbLTF
No. | EHEsHeRs 5 I AERER
[pe-TEQ/g]
1 |&WV=FEm |SW=FET [BTIREE R2.10.6 12
2 RSB HET R2.12.9 0.097
3 . ke ML R ET R2.12.10 0.0020
4 EH R2.12.11 0.040
5 A mam HnieE R2.12.11 3.9
6 EIBT A R2.12.11 8.4
7 |8a™m AT C%e = R2.11.20 0.50
8 R R2.8.17 8.4
9 |fTHT™ iTHT™ ELTRHET R2.8.17 5.8
10 THERF R2.8.17 1.1
1|, . #® R2.11.16 6.7
12 PR PRR T =4EB R2.11.16 6.4
13 A R2.11.19 5.4
14 EREE R2.11.19 1.9
15 |8RgEm e AHiR R2.11.19 1.1
16 TEM R2.11.19 3.3
17 E5F R2.11.19 0.40
18 |AREM™ AEM REBRTRE R2.11.12 0.97
19 b =F R2.10.1 0.26
20 TFF#H R2.10.1 0.031
21 HEm R JREN R2.10.1 6.3
22 L #7480 R2.10.1 0.36
23 A0 R2.10.20 0.049
24 (=8 =4 P 4 R2.10.20 0.12
25 IDEFE R2.10.20 26
26 |,__ _ a¥# R2.8.24 8.7
27 BRT ol g R2.8.24 6.9
28 P 18 R3.2.10 2.2
29 | .o me I L] R3.2.10 3.0
” SLAHET | SLAEFH are—— R3210 >
31 AHHEE R3.2.10 97




